@

3 15 11 18 24
40 ®_£ ®1_5 @_ﬂ ©E
3_ .3 g 18_ 2x3 3
40  23x5 24~ 923x3 922




17 R EasE depeld . [ el Sel2

% Qe AL FoIH AV AL S0

® 10 @ 11 ® 12 @®)13 ® 14

a7 HHE B9 290471 2 1 5 Holojof gtk o}
24 13 & oFEste [ ] etell 13 9] ujrt Eojztof ek
wtebA 7Hd 22 A= 13 ot




(@)x12y6

@ x5y3 @ x7y? @ xByS

@ x4y

— x12y6

(—x6y3)2

‘ {(—x2y)3)?




® (a®)% = db
® (a*)?
0,0,0,® : a°

@I[llG




B L2 g0asw el 4 S W, S F o9 ol E 5
X

g e

@ 4 @5 @ @ 7 ® 8

BE7t £%14 29 525 o]Fo]F] = {etASLE UERE 5
At

A 2x2=4,52x2x2=82 2 4 1,

2x 33, 62 x@to] 2 5 Qi

72 FtaTE BV SRR 2t 7o] Qle B R oRE K| of

Fhssit.




2844 0.141414 - 9] 257 ofe] 25 WA 2] 0] SA-2 TohH?

o0  @On ® 2 @ 3 ® 4

0.141414 ... = 0.i4 o]|2 2 £uajr] o] =2} 27
25 = 2x12+ 10|82 A4 ofdf 254 A9 22+=1

o|t.




i)
oo
ofn
8o
Mo
Y
Mo

2

® 3i7 =3 @ 231 = 232
® 1057 = 0710 @ 0.0913 = ﬁgo
y _512—9%1 -
@5.12 S
B
.. 317-3
D317 = —5
o 2134-2
@ 2134 = —5
.. 1057 -10
® 1057 = —5o-—
. 913-9
@ 0.0913 = =




8. o= F 5o dia oA

i

27 UrErd 212

oo

@0.49 =05 @ 0.83>0.83 ®09<1
@ 0.45>0.5 ® 0.56 < 0.506
. 49-4 45
D049=—"=—"=05




Hytxay® = a7y Quf [ fobe] kg 4

©9

i

Ao =

r

A

o112 @88 @9 @51 © 17

KOy X x2y8 = X236 — x7y9 o)},




@ x5 ® x'2




@ x15 @x16 @ x17 @ x18

@ x14

xx () x x3 = x1H12+3 = 16




12. ©hg F A4 20 b 7} obd 229

D ab x a®b? + aPb? @ a® + a?b x b?
® a?b? + (-a) + (—ab?) @ab3 X ab + b?
® b2 +a’b* x a®b?

@ ab® x ab + b* = a®b?




13.

@ 100x - x @ 1000x — x

@ 1000x — 100x (®)1000x — 10x

® 100x — 10x

B

10002=235,3535+
-) 10z= 2.3535-
9902=233

wbA] B 1000x — 10x o]t}




@ 370 ® 470




@ 2 @)3 ® 4 @ 5 ® 6

- 38-3 7
)C-O.?)S-T_E
A 7

y=0 99 33
7
X 18 33 11 .
..—_—:—:—:1'
y 7 18 6 83
33

weba £gnt e 3oith




7|9k A 2 53442 UERRY), o]do]: BaE 2 HolA
3io

gol 031 o] F51L, helel £8E A% mobd Hol 014 7} 53]
t}. o] o, 7|4 AE oY
ag 31
oldl : 0.31 = —,
| 99
. 14-1 13
A:0ld="— ="
il 90 90

whebd] 480] 7okt
(o7t 2 A 13

) _13 _
Eret e gw) g 4




1 1
17, (@ (=6 P (P = @ P () =5 &
WES W, g+ b+ c 9 27
@® 3 @ 6 3)9 @ 12 ® 15
(xQ)a - (_x)2 _ x2a _x2 _ x4
2a—2 =
a=3
Y0 =y sy? ==y 3-2=-1
b=2
1
(22)5—Z2—(—Z6)32110—22—(—Z36)=—Z—4=—Z
10-2—-3c=-4
c=4
a=3,b=2,c=4
La+b+c=9




oju

ol

x6 y4

@ (x3y2)2
@ (2(12)4

1648




19. 3] Q9] 72 o] 527} 1, 3 o] L] 2e] o] 5247} 3 L, 814590
o] 91o] A7 o] S48 ok (T, x, y = x>y 9 A%

® 1 @3 @) @ 7 ® 2

B 1
3 (k =A%) o] Qo] A=
3,9,71,3,971,---
L x=4dky, y=4ko -3
(F ko < ki, k1, ko = AFA5-0lTt)
81 + 9 = 34
— 316k1-8k2+6
— 32(8k1—4k2+3)
— g8ki—4k>+3

O (k= AA) 9] do A =09,1,9,1, -
ki, ky 7} AAFASLO| B2 8k, 4ky = F5o0lt),
wahA] 8ky — 4k + 3 2 E40|B 2

81 + 9 o] A o] A7 =9 o|tt.




20.

Dall @b @adl @ Lw @)l

1 1
VvV, = gﬂaQb, Vo = gﬂan olm 2

1 1
% = gﬂ'azb + gﬂbZa
= —na’b X 3
- é nb%a
b

et V9] SV, 9 Rje] S olet,




